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This section contains two types of questions. For multiple-choice questions, solve each problem and circle the letter of the
answer that you think is the best of the choices given. For Student-Response questions, denoted by the grid-in icon, write
your answer in the blank space provided.

! +3x-10 3. Which of the following is an actual solution to the
x-2 = Bfanwn: equation Vx+7-x=1?
A) -5 ’;‘) ‘;
B) 4 ] =
o . Q) 2
D) 2 D)3
- +24
2. 1f3Jx+3=2, thenx= 4, Ifu=z‘—,thenwhatisthevalueof
e x+4  x+4
A) 5 x?
B) 1
0 -1
D) 3

500+ Practice Questions for the New SAT



5. Which of the following most complct.ely expresses the

WRTI .. -
solution set of the equation —— =~
A) x=-4
B) x=-4,3
C) x=-3.4
D) x=4
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